PC 12 LG17 Answer Keys (Jan. 2020)
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LG 1/2 Transformations

1) a) @3,-1)
b) (-3,1)
o 3,1
d) (4,-5)

e (-1,-3)

2) a) (c,3d4)
b) (%c, d-1)

1
c —c-2,4d-7
) (6 )

d) (_—1c+2, -2d-6)
4
1

e) ( 5c+5 ,-3d+4)

-1 1
—c+l, —d-3
f) (8 > )

3) a) f(x)=-5x>+6x2-2
b)  F(x)==5x"—6x2+2

0  f(x)=135x>—54x%2+2

T
2
x=2) +1
b) f‘l(x)=Q
3
x+4

o flx)== -2

LG 1/2 Transformations

5) reflect in x-axis
vert. exp. by 2

translate down 5

horiz. comp by %

translate right 3
6) a) b)
A
ot s
¥
c) d)

7 a) 3f(x-1)-4=3x-1)"-1

8) Domain: x=<-7
Range: y>15



LG 1/2 Transformations

LG 3 Polynomial Functions

9 y=f(2(x-9)-2
10) x-intercepts: (-2,0) & (3,0)
y-intercept: (0, 24)
5
11) a) >
b) i) (6,10)

i) (8,23)

iii)  (-8,-9)

12) Domain: x=4 or x <-4

13) Invariant: (5,5) & (9,9)

10a. y=—2(x + 2)(x — 1)2
10b. y=_71(x+3)(x+1)2(x—2)
11. y=2(x+2)(x+1)(x — 3)2
12. y=5x-1)(x+2)(x+4)°

13. y=4(~(x-8)) -4

14. 4, negative

LG 4/5 Exponents & Logs

LG 3 Polynomial Functions

1.aaD b)A ¢oC d8B

2. a) (-3,0,(1,0),4,0
b) (0,12)

¢) 3 degree

d) down into QIII
up into QI

e) -3<x<landx>4

f) x<-3andl<x<4

6a. k=-7 6b. k=-2
7. x+1, x-2, x+3
8. (x+2)(x—1)(3x—1)

9. (x+3)(x—2)(x—5)

1) a) 7

1
a —
) 8

2) 2.4 hours

3) 5.09 minutes
4 a) log, k=2
q

b) b=y"
0 logg 7
logg 9

d i é ii) 8 iii) 6

iv) x=0,1 v) x=4

VBE®

5) logs—

c’4p
2log6-log4

6
) log6

—log5-3log8
log5-21log8




LG 4/5 Exponents & Logs LG 6 Geometric Sequences & Series

7) a) 9,reject-3 11718 -61

25 27

1
1. a) 508 b) 5 )
b) -2,reject3
2. tl = 1
¢) 1,reject -5

1 1 1 1 1 1
8) a) y-intercept: (0,50) 3. a) 5 + 25 + 125 + 625 + 3125 + 15625

b) eq.horiz. asymp: y=-4 4,5, 6 7 8
b stetstsTs
¢) Domain: x ER
40 22 b 25
d) Range: y>-4 - 8) 60 )
9) a) 2x+2y 6 n-1 3 5 4
1 n 1
- 3
24(2) Z " Zn+1 27—271
1 5. a) n=1 p) n=0 ¢) n=t d) n=1
b) 3+—x
2
c) gx
2 LG 7/8 Function Operations & Rationals
10) 19.95
t 1
1) a) m(t)=200(2)" b)0021g ¢ 552days 1 (f+g)(x)-—x_1+*/;
D: 0 1
12) a) y=5+2 ARt
R: yeRr
b) _logsx-3
2
1 2 8 _
13) ) Slogsx+2logs y~3logs m~—logsz h(x)
D: x=-4
1
b) logx2,x>0 R: y=-8
1
3 cg)x)=
k ) (f g)() x(x+1)
14) a) —
m
D: x=0,x=1
b) k
R: y>00ry=-4
c) 25
f) 2
4 |L|x)=
15) a) -1 ) (h () (x-2)
b) E D: x=-3,x=2
32

R: yz_—sz ory=0



LG 7/8 Function Operations & Rationals

LG 10/11 Trigonometric Ratios

5) a) 5§

o fls()-7-

7) a) 32
b) 32x?
c) 8x?

No restrictions

8) a) g(f(x))=]6-4

D: xeRr

by g(f(x)) =t

9) a) True
b) True
c) False

d) False

1) a)

b)

)

d)

e)

2) a)

b)

)

3) a)

b)

)

d)

4 a

b)

)

d)

5) 24

Tn
9
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—n+2nn, nel
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LG 12/13 Trigonometric Graphs

1) a) 6
b) 120°,2—Tc
3

c) -5

7T
d) — to the right
) T g

e) Domain: x ER

Range: -11=y=<1

2) a) 180°,n
b) (0,0)

c¢) -2m,-m,0

T
d ==
) x >

e) Domain: x ER, x#%+nn,n€[

Range: yER

T 21
3 =3sin—|x+—|[+8
)y 3( 7)

4 y= 4sin$(x—14n)+4

y=-4 cosé(x—Sn)+4

5)

LG 12/13 Trigonometric Graphs

6) v =—6sin%(x—6)+0

7) a) h=-30cos——7+34
40

b) 26.18 seconds

ILG 14/15 Trig. Proofs, Sum & Diff & 2A

1) a) 3sin40°

51
b) -cos >

¢) 6sindx

d) cos IO_n
7

e) %sin 40x
f) 4coslOx
g) -6cosl2x
h) 5cos20x
i) tan-4x

j)  tan20

k) tanx

I) —cot’A



ILG 14/15 Trig. Proofs, Sum & Diff & 2A

2) a) 16_2

by =33
65

c) ﬁ
25

a -7
25
1/§+1

b

) 242

4) Proofs will vary (see teacher)

LG 16

Trig. Equations

LG 16 Trig. Equations

1) a) 150°,210° (+n360°, nE 1)

b) 30°,150° (+n360°, nE€ 1)

2) a) 0(+2nm, n€EI)

b) %T“, %‘, 1.11,425 (+ 2nm, n€1)

3) a)

b)

)

d)

e)

)

4 a

b

1.36,4.92 (+ 2nx, nE€1)

5
%, %,2.94,6.09 (+2nm, nE€1)

7?”, “?” ,0.34,2.80 (+ 2nm, nE€ 1)

0,m,0.34,2.80 (+ 2nx, nE1)

Tn 1lm =
— —,— (+2nmx, nEI
6 6 2(+ nrw )

n 3n Tn lln
—y—,—, — (+2nm, nEI
2o 6 S (+ 2nm )

No solution

-t -5m
6 6
50 3




